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Homework Problem Set #1

The following questions/problems draw upon the first two chapters of the Mankiw text, associated documents from the BEA, and a data spreadsheet at the course web-site.  For each item, a few well-constructed sentences written in your own words should be sufficient to answer.

Your written responses are due on Wednesday, September 16th, 2015 – you can either submit a hard copy or send an electronic copy (attach either a Word .doc or PDF file) by e-mail to jolson@csbsju.edu.
Answers inserted below in italics.
1.  Why are market-clearing models more appropriate for studying/analyzing long-run macroeconomic activity, while they may not work to explain short-run macroeconomic activity?  What is the distinguishing feature or assumption between those long-run and short-run models?

The distinguishing feature between long-run and short-run macroeconomic models are assumptions about the flexible or fixed/sticky/rigid character of prices and wages.  In the long-run, prices and wages are deemed to be flexible, so they can adjust to their market-clearing equilibrium values; in the short-run, prices and wages may be fixed, sticky, or rigid for any of a number of reasons which prevents them from adjusting to their market-clearing values.  Thus, in the short-run the macroeconomy may respond and behave differently to shocks and disturbances than it does in the long-run.
2.  What is the difference between stock and flow variables?  Provide concrete economic examples of each to illustrate the difference.

A stock variable is measured a moment of time; a flow variable is measured over an interval of time.  Economic examples of stocks would include the labor force, the number of unemployed or employed, the money stock, the capital stock, wealth, and assets; flows would include the various measures of production, income, and expenditures.
3.  Explain the conceptual equivalence of aggregate expenditure, production, and income; that is, why in the NIPA would expenditures for GDP equal GDP measured by production equal the income earned from producing GDP?

These three measures are conceptually equivalent because they each represent one-side of the same set of transactions or exchanges.  The value of expenditures for GDP equals the value of the production of GDP (you pay $1 for $1 worth of goods or services) and the value of the production of GDP equals the value of the income earned by the resources or factors used to produce GDP ($1 worth of goods or services produced and sold creates a $1 worth of income for the resources or factors used in production).
4.  A local company produces and installs granite countertops in kitchens.  Last year they had gross sales of $25 million, while paying local quarries $13 million for raw slabs of granite, paying $7 million in compensation to the company’s workers, recording $4 million in equipment and machinery depreciation, and earning $1 million in profits.  What was this company’s value-added contribution to GDP last year?

Value-added equals gross sales minus the cost of purchased intermediate inputs.  In this case, $25 million minus $13 million (for the quarried granite slabs) equals $12 million.  Note as well, that the “income” earned by the capital and labor ($7 million plus $4 million plus $1 million = $12 million) provided by the firm equals it’s value-added.
5.  Place each of the following transactions in one of the four components of expenditure:  consumption, investment, government purchases, and net exports.

a. Boeing sells an airplane to the U.S. Air Force.  
government purchases

b. Boeing sells an airplane to American Airlines. 
investment

c. Boeing sells an airplane to Air France. 

net exports

d. Boeing sells an airplane to Amelia Earhart. 
consumption (unless she’s using it in a business) 

e. Boeing builds an airplane to be sold next year. 
investment (inventory)
6.  Referring to the NIPA documents from the BEA, what distinguishes a good from a service?  What distinguishes a durable good from a non-durable good?
From p. 8 of A Guide to the NIPA… – “The following conventions are used to classify each PCE commodity:  Durable goods (1–16) are tangible commodities that can be stored or inventoried and that have an average life of at least 3 years; nondurable goods (1–17) are all other tangible commodities that can be stored or inventoried; and services (1–18) are commodities that cannot be stored and that are consumed at the place and time of purchase.”
7.  In macroeconomics (and in the NIPA), what is investment?  How is this different from (although possibly connected to) the use of the term in referring to individuals making “financial” investment?
Investment in macroeconomics refers to the expenditures by private businesses and households for new capital assets (structures, equipment and software, residences), as well as changes in business inventories.  Basically, these expenditures are for replacement of and additions to the capital stock to be used in future production.  (Again see p. 8 of A Guide to the NIPA…)
The use of, and the distinction from, the term “financial” investment refers to how these economic investment expenditures may be financed – businesses (and private individuals) have to borrow from the savings of others (or themselves) to pay for these economic investments.  So, when we are saving, we are “investing” (financially) in the sense that our savings are lent to others (or ourselves) in order to undertake economic investment.  Financial markets and intermediaries/institutions facilitate the flow of transferring our savings (financial investments) to those who want to make economic investment.

8.  How is the NIPA concept of National Income different from Personal Income?  (That is, what is the conceptual difference between these two measures of aggregate income?)

National Income is the sum of the payments earned by the factors of production (labor and capital) used in created aggregate output; except for some accounting adjustments/reconciliations, it is conceptually equivalent to National Product.  Personal Income is the income received by households – it includes some payments which are not earned by households and excludes some income households have earned, but do not receive.
9.  At the course web-site, go to the “Data Files” web-page at http://employees.csbsju.edu/jolson/ECON333/Data/DataFiles.htm and open the Excel spreadsheet “Some recent U.S. GDP tables”.  Then go to the 18th tabbed sheet (at the bottom) – GDP shares.  Ignoring the 1930s and 1940s (and the abnormal effects of the Great Depression, World War Two, and the Korean War), examine the graphed series from the early 1950s to the present.
a. As shares of GDP, what do you observe about each of the four expenditure components (C, I, G, and netX)?

From the early 1950s to about 1980, consumption’s share of GDP was about 60%; since then, it has gradually risen to about 68%.  Investment has fluctuated generally between 15% and 20% of GDP – it is more volatile than the other major expenditure components, fluctuating with the business cycle.  The government’s share of spending has a slightly decreasing trend from about 25% in the early 1950s to less than 20% in the 2010s.  Net exports tended to be around 0% (that is, balanced trade with exports = imports) from the 1950s to the late 1970s; since then net exports have been negative (a trade deficit) and perhaps getting larger.
b. Go to the next tabbed sheet, ConsShares.  What do you observe about the consumption of goods vs. services?  The consumption of durable goods vs. non-durable goods?
One can see the rising share of the consumption of services and declining share of goods in GDP.  Further, the rising share of services has more than offset the falling share of goods, leading to the increased share of consumption in GDP.  Within the share of goods consumption, that decline is largely accounted for by the decline in the share of non-durables goods; the share of durable consumption goods in GDP has not changed much.
c. Go to the next tabbed sheet, InvShares.  Note:  Investment is composed of Nonresidential, Residential, and Inventory Investment (the latter is not graphed here); further, Nonresidential is composed of Structures, Equipment, and Intellectual Property.  What do you observe about the shares of each of the graphed investment components?

With the exception of intellectual property investment, one notes how volatile the shares of the components of investment are – a good part of this is explained or connected to the business cycle.  One can also see the periods of housing booms and busts in the share of residential investment; similarly, there are booms and busts in the other components of non-residential investments (structures, equipment, and intellectual property).

d. Go to the next tabbed sheet, GovShares.  What do you observe about the share of total government since 1950?  What do you observe about the shares of Federal G vs. State & Local G?  Federal G is separated into National Defense and Non-Defense – what do you note and/or observe about each of these shares?

The most noticeable feature is that the share State & Local G has increased while Federal G has fallen, to the point that most (60%) of G is done by state and local government entities (this seems counter to what current and some past political rhetoric would lead one to believe is the case).  Further, most Federal G is for national defense, which has irregularly fallen as a share of GDP over the past 50 to 60 years and explains the relative decline in Federal G’s share (and, hence, the decline in total G’s share of GDP); the share of non-defense Federal G has not changed much.
e. Go to next tabbed sheet, NetXShares.  What do you observe about the shares of Exports, Imports, and Net Exports?
The shares of Exports and Imports tended to move along closely together from the early 1950s until the mid-1970s – so, we largely had balanced trade (0 net exports).  But since the mid-1970s, the share of Imports begins rising more than Exports and we observe negative Net Exports (trade deficits).  The causes and consequences of this phenomena link to more complex matters of the balance of payments and international capital flows.
